
ATOM 
Open Source Extruder 

B.O.M 
 

Part  Quantity 
NEMA 17 small stepper motor  1 

drive gear  1 

M6 threaded pipe  1 

heat sink  1 

nozzle  1 

heater block  1 

heater cartridge 40 watt  1 

thermistor 100k­ohm NTC  1 

12v small fan  1 

spring 40mm length  1 

u­groove  bearing  1 

M3*6  2 

M3*12  1 

M3*50  1 

M4*18  1 

M6 nut  1 

 


